CHIOPT

=XTI=EM=R
(COMPACT Z00M 28-85MM /73.2)
USER'S MANUAL




X

]
J
1

2

DISCOV=R YOUR PASSION
compPacc zoom 28-8s5MMm / Ta.2

/J

&7
FHHENRENEA. 55 X, B BB BR. ZRRBEBRANSIASHEDFR. 15
BIRAERZ PR U AR AT ERRE R, MRENRER UEEEFefFE BRREMERLY

2,
CHIOPT, BATFREFNFRR, RETALES0H#D,

BEEWEAF @, EEAZH, BFARNRHERATFRAS, BRchE, BXERETMN, UE

FERE o
EXTREMER %#%IE CHIOPT J P&k e@miB e &/ M, BIEHRHRERRZ.

ERLFEHBBE A ML (www.chioptfilm.com), SEEMILIRS REANEREREE, THES
BRI U EEHSARDZENER, B, MREEEFAXTHELERLS,

BERS T B R S AR S B
AR H A1 RABRS BV ER B WA, BRIZEFHE] service@chiopt.com, ERHEEREZHIIRA

BB,
BEEAFARRTN, BREBEARX, BIEREITFI.



o SEANBATRERIEMGLR, NHEAREERL, BERWSIIRER, BEERSHMEN, oI
A—REE MRS ENNT A RERRRNEEE, UERGEHARIMNERINETES, BT
ERFIEMIENE, EAEREARSNYRERES ;

o EESEMFRAEMALS, T TERMEE, S8 LNWXFNIERR BT, J/ERRRE
BRIRESENATIER ;

o REATLE, BELELAES;

o HIFLEES, BEREERERR. FIRNHS ;

o BEMEANMAZIREMIERENHAN, SANKBHRA LOERTEES, IREES,
EFREEkAT, Bt S kBR R,

FSELATED Y PL ROARZS, ARASFEAEEUTERE

FRREE LD FEKRIPFE 1A 114 BRORGKATE 1
ST 1A SEEEERL 2 1 (M3710) TR 2§ (3/8 3&+T)
EREF 1D THEZERZ 1D FEEHEALD) WREAE 11

Al L5mm RAAIRF 14 (e FABEERLER)
EEABBRA—E (T0.02*1; T0.03*1; T0.05*1; T0.1*2 ; T0.2*1 ; T0.3*1 ; T0.4*1; T0.5*1)

“ AL AT BSNEM EF RO E O, [8F DIY TR, BRAIUBITER, REERNESE PS-PI
Z EFH] EFOZER B,
2

O]
@
®
@

TR ® TERAERZL
TERZRERLTL ©® ZHEE
LR @ thEiFRe
R



Rk

FEREAE R ITH A, T SEBA/NTH,

X EREH
DEFXIERIT, PIIE NSRRI

LR
DERCZRRIF, PIASSE/ \EEAY P ARKIE, RIS AR
N7

SR
TRACCEL, PIIREE NE L ERERRAEIEEY
MBI EEIB ISR

SR

EXTREMER R5IsELEER K A%5EA

EREBEERTRGARRTTRR U IR AT X5,

EXTREMER $FSKTEHR ZRTRL B AR ARIRENFUEE (52.00mm), B—HIRAEZN 7 &0
3, FEIGIHELNE, BIZNZRIATRRENASRNEBERUETRAFTI—ENER, A,
L@ IR R A, SEMEEAEAZIEREIE, URRETENEEEIIREN.

—RME, ERNEENASRL, NRENTEIEREIBINAR, AEXZERNEETER
ISR, LEEY, BATRBEZETIL RSN, REGHEES.

BREERR, EAARETELIZEEN, TRBETER, URBEEFNE.

o FTERE, BHITUTHE

1. EERFHEENR. PIEA “EREHE" stEMEREAEN. MEERSHHEENSR ;

2. RtEIR R 2RSS

3. BRI REEBEEVMREES 1L.5M AHE, RENRAFEEFD ;

o FER(E:

ATERSERERKER, AREENEFEBEREWRS, iE I ELE®EDL;

BT ENERIEER, AGERENEFREREREHIPRES, 12 FIHRBNEZIEE D2 ;

C: 3tk D2 5 D1 YAV, 3 D2/)VF D1, MR B INGERS ;B D2 AF DL MFER LV EERF; (B
FEVEESS D102 (EENNANEFTERAEEX, IRAEMA, FERENERES, RZIA)

D:EEABFIE, EZID2%EF D1BY, REHRLELT parfocal R, FELER ;

(26 : ERIRIFL LA E 85mm I, IHEZEEER AWM, XWEZEERN 1.5m, BRELZEE
28mm 1, EFATEEEEREMT, MEZIEEN 1.4m, b 1.5m /), FEW0E, KIEEZRAEM 0.1 /5,

BHHEIA, 85 mm IHE 28mm i, EIEREMEY X EZIEEARTE 1.5m, WEAESLELTF parfocal K,
BELEE ;)



PL FO%R&iHEA

EERELAREOR, BRARSIEERERETLES L, 3§ PLEORKIHIHIIE, XERLGH
HIEE], BEMAESRLGN, FEREMADEO, BRZAEIE, RAEOBEREFREL., AEHKRNK
IFFREAN 8 B M2*4.5 #8422, (40 E)

BB RIEEB L REL 1.5 KAK HEFRANE
B, mEMguFam$i.

M2.0*4.5 8222

FEBREESER
85mm i Xt BB TR & 28mm It EE BT ZIE B EERREESEE

1 +0.25

1.1 +0.2

1.2 +0.15

13 +0.1
1.35 +0.05

1.5m 15 0 ROKEAVIHETIE

1.7 -0.05

2 0.1
2.25 -0.15

2.5 0.2

3 -0.25




EF EORE5%EA

HHTHELREOG, BRAEPALRERETIES L, 3§ EF FORSVEITE, XWERLEH
WHET, EERESRLER, fAREHADEO, ARZIETE, RBEROBREFREIN. REHRNR
JFFREAN 8 T M2*18 #8242, (WNE)

M2.0*18 8242

ROERERBITHEIE

E FOREHA

EHTHELREOE, BRAEPALEZERETES L, B EEORSNBITE, WERLEHRN
5], EEREELGR, TARRAN O, BREZIEHEK, REROBREFREINL. REMRRN
FREIN 8 Bl M2*4.5 1842, (J0E)

M2*4.5 #8242

ROREBRIHITIE



BAHIE ShIRIE

Ale COMPACT ZOOM 28-85mm/T3.2

gEkEn PL/EF/E

FEEE 28-85mm

TREE 38 o

=NTE T3.2(F2.8) .

SEEE T3.2-T22 ‘ s

#BipER ¢ 46mm

A= (BRH) 52mm(PL)/44mm(EF)/18mm(E) —

SRXAEEE (BEELR) D e e

RIS (BEEETHE) 0.7m g%

BRI BRAE 0.05X i g

R FEIE R FHYREX, 28mm: (510*340mm)  85mm: (123*82mm) 4 g

KT 65~17.5° . 2 ;‘? B
BB 46~11.5° = g
3t a7 fa 75~21° B e
B 1A o8

HERIEEAE 84° o

TR AE 96°

WERIEEAE 288°

BAERVS KE ¢ 114228 (PL) *229(EF)*254.5(E) TR

s 27 (PL) /275 (EF) /2.8KG (E) LR

RRIEPIME ¢ 114mm

JEEEO T

ESE S 0.8M

R dm, Bl 1 AT RE B LR BR 7 USRS, FO 5517284 5
10



ERRS

1. KFEARRREHENRHXERS, REBAN~RMAEBRE, KPERBRHPEAERS ;
2 RIEEAAN, T ERMBHRIE R ;
21 REREYEHIENER ;
22 KIRF-RERRANERER. 4P, REMEMIRITN ;
23 MEERENAANRE. RERE, SEIRE. #Hk KB HAEN. WE. ME MRS,
k& HA R A HER RS MR ;
2ATFERKSBIEHTERIB. BUE. HR. ABBEEMEMIRTFH.
3. REHE, HEBNERASTRIBHBENAEE. HIFRS.
4 KT BRRMBENRARFTSEERS (FARAFE : SERVICE@CHIOPT.COM)
BiEA :

EEE R, BEANEERE, BERFIIEEN, SURAXFEATRAM, NEXNEEN ERA.
ML, HEREEARARDITER (RIRMMH, B4 AZES] SERVICE@CHIOPT.COM, HBAFARRA
BRSS + F5IE) .

NGB ERRE, BIGLRUTRZ0E

1. BITHEBRIRBEHHITEREE CRalFH) ;

2. BHEHEHBIKREAES

3. HEEEFRS - SRER

4, RRBEEBINES, TR R,

BN

\EIERFTE X TAEAFFIRGHES. ik, BIESHEUNEMD AMERNIITERIEMN.

; B KD TREXEFAHE AR 8 S
o www.chioptfilm.com

INTRODUCTION

The expression of light and shadow has a great leading and driving effect on political, economic, cultural, technolog-
ical, educational, military and artistic development. The reasons why excellent film and cinema waorks are celebrated
are frequently deep-rooted, and excellent equipment can be more conducive to the expression of the creator's ideas

and the presentation of his works,

CHIOPT, dedicated to the exploration of optical technology, serves the progress of mankind society.

Thank you for purchasing this product. Please read and understand the contents of this manual before

using it and keep it in a safe place for easy reference afterwards.

The EXTREMER series is the full-frame zoom range of CHIOPT cinema lens that will help you unleash

your inspiration

You can keep up to date our products and services by following our official website (www.chioptfilm.com)
or by entering your email address on our service interface. You can also upload and share your work with
the public. Additionally, if you have any comments and suggestions about the use of the lens, as well as
about our products and services, please drop an email to: service@chiopt.com, your satisfaction is our

greatest wish.

Please read the manual carefully befare using to ensure the correct use of the lens, especially the safety

precautions

13



PRODUCT BASIC MAINTENANCE

® Clean lensis the only way to ensure good quality imaging. If there is dust on the surface of the lens,
use a blow-up balloon to remove it. To remove stains and fingerprints, use clean soft cloth with a few
drops of lens cleaner or lens cleaning paper and clean from the inside out in a circular motion, taking
care not to touch the glass with your fingers, and not to touch the lens with any sharp objects

® Dirt on the surface of the metal parts of the lens body can be wiped with a wrung out damp rag. The
text and scales on the lens body is filled with paint, do not use paint thinner or organic solvents such
as benzene to wipe them.

® Cover the front and rear lens caps when the lens is not in use.

To prevent mould, store the lens in a cool, dry place.

® \When taking the lens from a cold place to a place with high temperature and humidity, fog may form
on the glass lens

® Toavoid fog, please allow the lens to adapt to the environment before using it .

ACCESSORIES

This lens comes standard with the PL mount version, this version of the lens includes the following

accessories

Lens*1 Protective case *1 114mm lens front cap *1
Supporting base *1 Supporting base fixing screws *2 (M3*10) Supporting rod screw *2 (3/8")
Gasket box *1 Zoom fastening screw *1 (pre-install-ed on the lens)

Manual *1 Metric 1.5mm hexagonal spanner (used with the mount fixing screw) *1

1 set of back focus adjustment shims (T0.02*1; T0.03*1; T0.05*1; T0.1*2; T0.2*1; T0.3*1; TO.4*1; T0.5%1)
*This lens can be purchased separately for EF mount and E mount, with DIY tools included, users can
replace them by themselves, refer to PXX - EF and E mount installation instructions for details.

14

PARTS OF LENS

® ©® e o

©®

Focus Ring
Zoom Fastening Screw Hole
Zoom Ring

Aperture Ring

® Zoom Fastening Screw
® Supporting Base
@ Supporting Rod Screw

15



LENS CONTROLS

Focus, zoom and aperture can be controlled by adjusting rings.

Focus Control
Rotate the focus ring will increase or decrease the focus-

ing distance

Zoom Control

Rotate the zoom ring will increase or decrease the ad-

visable area, and also can increase or decrease the FOV

Zoom Ring

Aperture Control

Rotate the aperture ring will increase of decrease the
aperture diameter to increase or decrease the light from

lens to camera

16

Aperture Ring

EXTREMER SERIES LENS REAR FLANGE ADJUSTMENT INSTRUCTIONS

Accurate back focus diistance is the key to the zoom lens to ensure par-focus function and accurate focusing distance.

The EXTREMER lens has been strictly set to the rated value (52.00mm) before leaving the factory, and each lens has undergone
strict inspections. When designing the lens, we fully considered that the sensor positions of different camera systems may
have certain differences. Therefore, the rear flange distance of the lens can be fine-tuned by reducing and adding spacers to
ensure a more perfect fit. With your camera.

Generally speaking, on a new camera system, if the focus moves during the zooming process, it is likely to be caused by inac-
curate back focus. At this time, we need to calibrate the back focus distance by increasing or decreasing the spacer..

After the focus is calibrated, the lens can perfectly match the camera to ensure that it does not lose focus and has a better
picture quality.

® For the adjustment process, please perform the following steps:

1. Prepare the subject. Can use “star test chart” or other black and white, high-contrast subjects;

2. Keep the aperture ring fully open;

3. Place the subject at a distance of about 1.5M from the imaging surface of the camera, with the
subject at the center of the screen;

Adjustment operation

A: Rotate the zoom ring to the longest focal point, then rotate the focus ring to the clearest state of
the picture, and write down the focus scale value D1 at this time;

B: Rotate the zoom ring to the shortest focal point, then rotate the focus ring to the clearest state of
the picture, and write down the focus scale value D2 at this time;

C: Compare the size of D2 and D1. If D2 is smaller than D1, you need to increase the back focus spac-
er; if D2 is greater than D1, you need to reduce the back focus spacer; (the adjustment of the spacer
and the difference between D1 and D2 correspond to the focus ring The rotation angle is related,
the larger the rotation angle, the more shims that need to be adjusted, and vice versa)

D: Repeat steps A-B until D2 is equal to D1, indicating that the lens is already in par focal state, and
the adjustment is over;

(Example: Suppose the lens is zoomed to the 85mm end, and the focus scale is 1.5m when the image is the
clearest, then the lens is zoomed to the 28mm end, and the focus scale is 1.4m when the image is the clearest,
which is more than 1.5m. Small, according to the experience value, after increasing the back focus spacer by 0.1,
reconfirm end to 28 mm end, and the focus scale value is 1.5m when the picture is clearest, indicating that the
lens is in par focal state, adjustment completed;)

17



Position your subject about 1.5m distance,

and the subject is in the center of the frame

Adjusted to the maximum aperture.

Reference for Par Focal Gasket Adjustment

Focus Scale Value

Focus Scale Value 28mm

Rear Focus Gasket

85mm Adjusting Reference Value
1 +0.25
1.1 +0.2
12 +0.15
13 +0.1
1.35 +0.05
1.5m 15 0
1.7 -0.05
2 -0.1
2.25 -0.15
2.5 -0.2
3 -0.25

18

PL MOUNT INSTALLATION INSTRUCTIONS

After removing the original lens mount, put the bottom of the lens upright on the warkbench, align the
pin groove at the bottom of the PL mount with the pin at the rear of the lens, and place it vertically on
the rear of the lens, align slightly left and right, there is a feeling of pause, indicating that the bayonet has
been installed smoothly in place. Then symmetrically lock in 8 PCs M2*4.5 screws in sequence. (As the

picture shows)

M2.0*4.5 Screws

Reticle
Reticle

Positioning pin Positioning groove at the bot-

tom of the mount

19



EF MOUNT INSTALLATION INSTRUCTIONS

After removing the original lens mount, place the bottom of the lens upright on the workbench,
align the pin groove at the bottom of the EF mount with the pin at the rear of the lens, and place it ver-
tically on the rear of the lens, twist the card left and right slightly If there is a feeling of pause, it means
that the bayonet has been installed smoothly. Then symmetrically lock in 8 PCs M2*18 screws in se-

quence. (As the picture shows)

M2.0*18 Screws

Reticle irisring

Positioning pin

Positioning groove at the bottom

of the mount

20

E MOUNT INSTALLATION INSTRUCTIONS

After removing the original lens mount, place the bottom of the lens upright on the workbench,
align the pin groove at the bottom of the E mount with the pin at the rear of the lens, and place it ver-
tically on the rear of the lens, twist the card left and right slightly If there is a feeling of pause, it means
that the bayonet has been installed smoothly. Then symmetrically lock in 8 PCs M2*4.5 screws in se-

quence. (As the picture shows)

M2.0*4.5 Screws

Reticle
Reticle

Positioning pin
Positioning groove at the

bottom of the mount

21



TECHNICAL SPECIFICATIONS

Model Number

COMPACT ZOOM 28-85mm/T3.2

Lens Mount PL/EF/E
Focal Length 28-85mm
Zoom Ratio 3x
Minimum T Stop T3.2(F2.8)
Aperture Range T13.2-T22
Imaging Circle (Image Diameter) ¢ 46mm

Flange Distance

52mm(PL)/44mm(EF)/18mm(E)

MOD From Lens Front

0.4m

Figure

169.7

1486

MOD From Sensor Plane

(minimum marked distance) 0.7m

MOD Magpnification 0.05X

Shooting Area for MOD ;2?2(12{2;?%1@
Horizontal FOV (Field Of View) 65~17.5°

Vertical FOV (Field Of View) 46~11.5°

Diagonal FOV (Field Of View) 75~21°

Quantity of Aperture Blades 11 PCs

Angle of Aperture Ring Rotation 84°

Angle of Zoom Rotation 96°

Angle of Focusing Ring Rotation 288°

Maximum Diameter VS Length

¢ 1147228 (PL) *229(EF)*255(E)

FULL FRAME
Compact Zoom 26-B5nm/132

122

8.6

311

PLMoun

o]k

CHZET
KHE

Weight 2.7 (PL) /2.75 (EF) /2.8KG (E)
Front Diameter ¢ 114mm

Filter

Gear Pitch

cato

ence only.

95630

$98.4

23



After-sales Service

1. CHIOPT Provide two years of free repair service for this product, product quality problems within the warranty
period, CHIOPT commitment to provide free maintenance services.
2. The following after-sales treatment during the warranty period will also be charged as appropriate.
2.1 Failure to present a valid serial code.
2.2 Damage caused by failure to use, maintain or store the product in accordance with the requirements of the
instructions for use.
2.3 Damage caused by human handling or improper storage occurring after purchase, resulting in dropping, water
ingress, mould, lens breakage, scratches, sand burial, fire, etc, or other irresistible factors.
2.4 Damage caused by repair, transformation, decomposition, internal cleaning at non-Long Walk headquarters
3. After the warranty period, aur company will provide paid repair and maintenance services for this product as appropriate.
4. CHIOPT can provide paid lens maintenance and cleaning services (customer service emall: SERVICE@CHIOPT.COM)
Instructions:
When sending the product for repair, please make sure that it is well packaged, ensure that the serial code is
clear, make sure to describe the product the productivity problem in, if necessary please attach photos, videos,
etc, to facilitate our technical staff to analyze the problem (you can add attachments, please drop us an email
to SERVICE@CHIOPT.COM, with the email title: service + serial code).
If the lens is faulty in use, it is recommended that the following process be followed.
1. carry out simple trouble shooting on your own in accordance with the manual (not detachable).
2. Consult your local dealer for technical guidance.
3.Email customer service - for help.
4. Follow the instructions of the after-sales department and send the product in question for repair.
Privacy:
The company complies with all existing laws and regulations regarding the persaonal information of: name,
addresses, telephone numbers and other personal information provided by users.

DISCOVE=R YOUR PASSION






